
KUBOTA SVL75 SKID STEER LOADER

Features and Benefits:
A tough compact machine, the Kubota SVL75 compact track
loader has been designed for harsh terrain, big challenges and
tough environments. 

Benefiting from an engine that's a leader in its class, as well as a
wealth of additional features that help to improve performance,
the Kubota SVL75 specs make for efficient earthworks. 

Cab comfort, straight-forward operation and a high degree of
versatility are further advantages to this machine. 

Although its six-way, four-in-one bucket and some of its other
features add a little to the price tag, this is more than made up for
by enhanced performance and the ability to perform a wider
variety of earthmoving jobs with greater efficiency. 
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Specifications: 

Model: SVL75
Type of Operator: Open CAB 
Model: V3307-DI-TE3
Gross HP (HP (kW)/rpm): 74.3 (55.4)/2400
Displacement: 3331 cc
Cylinders: 4
Bore x Stroke: 94 x 120
Aspiration: Turbocharged
4 in 1 Bucket

https://aus01.safelinks.protection.outlook.com/?url=https%3A%2F%2Fblog.iseekplant.com.au%2Fblog%2Fwhat-is-a-skid-steer-loader&data=05%7C01%7Csales%40pacificenergygroup.com.au%7C357e0a60b28744c15f3408db3951cc5b%7C4fceee420dc54effbcd4c88e7a2c4ccc%7C0%7C0%7C638166795699331203%7CUnknown%7CTWFpbGZsb3d8eyJWIjoiMC4wLjAwMDAiLCJQIjoiV2luMzIiLCJBTiI6Ik1haWwiLCJXVCI6Mn0%3D%7C3000%7C%7C%7C&sdata=f1uxRWprILNja8KSJ9QF6yG%2Bh6Twkrb7b9vOQCCK%2Fnk%3D&reserved=0
https://aus01.safelinks.protection.outlook.com/?url=https%3A%2F%2Fblog.iseekplant.com.au%2Fblog%2Fwhat-is-the-right-skid-steer-loader-for-my-job&data=05%7C01%7Csales%40pacificenergygroup.com.au%7C357e0a60b28744c15f3408db3951cc5b%7C4fceee420dc54effbcd4c88e7a2c4ccc%7C0%7C0%7C638166795699331203%7CUnknown%7CTWFpbGZsb3d8eyJWIjoiMC4wLjAwMDAiLCJQIjoiV2luMzIiLCJBTiI6Ik1haWwiLCJXVCI6Mn0%3D%7C3000%7C%7C%7C&sdata=6j804BR6SK7xj5ulpj5AMT%2FHAdfdY6HfkVP7eNRRSNE%3D&reserved=0

